N T 20234E B /R A 55 0% il slkat (4H17H )

T AT 8] ﬁgﬁ% EiR RS
AFTH EFH—%Y) 1 83. 80
AHTH EFSH %Y 2 85. 20
AHTH EF %Y 3 79. 60
AHTH EFH—%Y) 4 88. 20
AHTH EFSH—%Y) 5 82. 40
4HTH B S %Y 6 91. 00
4HTH EFS %Y 7 87. 00
4HTH B —FY 8 86. 00
AFHTH B —FDY 9 81. 00
AHTH B E %Y 10 82. 40
AHTH B H %Y 11 86. 60
AHTH B E Y 12 83. 60
AHTH B E—FY) 13 86. 80
AHTH BB —%Y) 14 82. 60
AHTH EFSB—%Y) 15 89. 60
AHTH EFH—%Y) 16 84. 40
AFTH BB —%Y) 17 90. 20
AHTH B —%Y) 18 86. 80
AHTH EFSE—%Y) 19 90. 00
ARTH EFSE—%Y) 20 89. 40
AHTH EFH—%Y) 21 90. 80
AATH B %Y 1 83. 60
4 TH B Y 2 88. 80
4FHTH B Y 3 78. 00




T i At [B] 2 Hif AR
AATH LA =% 4 82. 80
AATH LA =% 5 88. 20
ARTH LA %Y 6 84. 00
ARTH L% 7 84. 80
AHTH LB %Y 8 86. 60
AFTH LB %Y 9 85. 20
ARTH L5 =% 10 84. 40
ARTH LA =% 11 87. 00
ARTH LA =% 12 84. 40
ARTH LA =%y 13 89. 80
ARTH LA =% 14 84. 40
ARTH LA =% 15 84. 40
ARTH LA =%y 16 84. 00
ARTH LA =% 17 88. 80
ARTH LA =%y 18 83. 00
ARTH LA =% 19 83. 40
AATH LA =% 20 87. 80
AATH L =% 1 84. 60
AHTH B P8 =%1Y 2 85. 40
4HTH B P8 =%, 3 85. 80
AFTH LB =% 4 85. 20
4HTH B E =% 5 88. 00
AATH L =% 6 81. 40
AA7TH EFE=%1 7 87. 00
AA7TH EFE=% 8 85. 80
AATH EFE=% 9 82. 60




T i B[] 2 Hif AR
4HTH B =% 10 80. 60
4HTH B =% 11 84. 00
4HTH =% 12 87. 40
AHTH EFB=%Y) 13 83. 40
AHTH LB =% 14 83. 40
AFTH LB =% 15 84. 60
4HTH B =% 16 87. 60
4HTH B =% 17 88. 40
4HTH B =% 18 89. 60
4HTH B IE 1 86. 20
4ATH B SI % 2 84. 80
4HTH B SIE 3 84. 60
4HTH B SIEY 4 87. 40
4ATH B S 5 85. 20
4HTH B S 6 85. 00
4HTH B 7 0.00
4HTH B S 8 82. 20
4HTH B S 9 87. 40
AHTH B BIEY) 10 84. 40
AFTH EABIEY) 11 84. 60
AFTH LA EY) 12 87. 40
AFTH LAY EY 13 85. 40
4HTH B SI % 14 84. 60
4ATH EASIE 15 79. 60
4HTH B SIEY 16 84. 40
4HTH B S 17 84. 20




T i B[] 2 Hif AR
4HTH B SIE 18 82. 20
4HTH B S 19 82. 60
ARTH LB TEY 1 84. 40
AHTH EF B TEY 2 86. 00
ARTH LB TEY 3 81. 40
AFTH LB IEY 4 85. 60
ARTH LB %Y 5 80. 40
ARTH LB IEY 6 76. 80
ARTH LA IEY 7 80. 60
AHTH LB IEY 8 82. 40
AATH LB IEY 9 85. 00
4HTH B I 10 80. 60
4HTH B I 11 82. 20
4ATH B Y 12 85. 20
4HTH B I 13 81. 40
4HTH B I 14 82. 20
4HTH BT 15 83. 60
4HTH B IEY 16 80. 60
AHTH EFSBTEY 17 81. 00
AHTH EF B TEY 18 83. 20
AFTH LB IEY 19 82. 00
4HTH S I 20 83. 60
4HTH B R 21 82. 40
AFATH LB EY 1 82. 00
AFATH LA BN EY 2 84. 60
AHTH LB EY) 3 86. 40




T i B[] 2 Hif AR
AFTH LA BN EY 4 81. 80
AFATH LA EY 5 82. 80
AFTH LA EY 6 80. 00
AHTH BB EY) 7 79. 80
AFHTH EFBREY) 8 79. 20
AFTH EFBREY 9 81. 20
4HTH B SANFEY 10 81. 60
4HTH B SN FEY 11 85. 40
4HTH B SNFEY 12 82. 80
4HTH B SNFEY 13 79. 80
4HTH B SN FEY 14 85. 80
4HTH B SN FEY 15 80. 20
4HTH B SN FEY 16 84. 60
4HTH B SNFEY 17 82. 80
4HTH B SNFEY 18 81.00
4HTH B SNFEY 19 87. 00
4HTH B SNFEY 20 86. 60
AHTHTHHE %Y 1 78. 00
AHTH I HE—FY) 2 81. 00
AHTH I HE %Y 3 85. 40
AHTH IS % 4 80. 40
AHTH IS % 5 77.00
AHTHTHFH %Y 6 78. 40
AHTHTHFH %Y 7 78. 00
AHTHTHFH %Y 8 80. 20
AHTHTHFH %Y 9 86. 20




T i B[] 2 Hif AR
AHTH IS % 10 81. 40
AHTH IS % 11 81. 60
AHTH IS % 12 82. 80
AHTH I HE %Y 13 81. 00
AHTH B %Y 14 79. 00
AHTHTHFHE %Y 15 80. 00
AHTH S %Y 16 85. 20
AHTH IS % 17 85. 40
AHTH IS % 18 83. 20
AHTH IS %Y 19 84. 40
AHTH IS %Y 20 84. 60
AHTH IS % 21 86. 00
AHTH TS %Y 22 81. 60
AHTH TS % 23 81. 20
AHTH IS — % 24 86. 20
AHTH IS % 25 77. 40
AHTH IS %Y 26 77.80
AHTH IS % 27 86. 20
AHTH I HE—FY) 28 83. 40
AHTH T FH—%Y 29 81. 40
AHTH IS % 30 82. 20
AHTH B %Y 1 82. 80
AHTHTHH %Y 2 84. 60
AHTH B %Y 3 84. 20
AHTH B FY 4 79. 20
AHTH B FY 5 89. 20




T i B[] 2 Hif AR
AHTH T %Y 6 83. 80
AHTH B %Y 7 85. 20
AHTH B FY 8 84. 20
AHTH FHE —FY) 9 83. 80
AHTH B FY 10 87. 60
AHTHTHFBE %Y 11 89. 20
AHTH S %Y 12 86. 80
AHTH IS %Y 13 79. 80
AHTH IS %Y 14 84. 60
AHTH IS %Y 15 82. 60
AHTH IS %Y 16 87. 40
AHTH S %Y 17 86. 20
AHTH TS %Y 18 88. 80
AHTH TS %Y 19 86. 00
AHTH NS %Y 20 83. 80
AHTH IS %Y 21 81. 20
AHTH IS %Y 22 83. 80
AHTH S %Y 23 83. 00
AHTH B %Y 24 84. 00
AHTH FFE %Y 25 89. 40
AHTH IS %Y 26 86. 40
AHTH B %Y 27 85. 00
AHTH IS %Y 28 80. 40
AHTH IS %Y 29 82. 40
AHTH IS %Y 30 86. 40
AHTH S %Y 31 85. 40




T i B[] 2 Hif AR
AHTH =% 1 89. 00
AHTH THFHB=%5Y 2 74. 80
AHTH THF =% 3 83. 20
AHTH B =%Y) 4 83. 60
AHTHTHFB=%Y 5 81. 80
AHTHTHFB=%Y 6 83. 20
AHTHTHFHB=%5Y 7 90. 60
AHTH THFHE=% 8 84. 60
AHTHTHFHB=% 9 76. 20
AHTH B =% 10 86. 40
AHTH B =% 11 82. 60
AHTH B =% 12 74. 40
AHTH B =% 13 78. 20
AHTH B =% 14 78. 40
AHTH B =% 15 82. 60
AHTH B =% 16 76. 80
4HTH B =% 17 84. 20
AHTH B =% 18 87. 40
AHTH B =%Y) 19 82. 60
AHTH B =%Y) 20 79. 20
AHTH B =% 21 77. 40
AHTH B =% 22 83. 60
AHTH IR =% 23 86. 40
AHTH B =% 24 85. 80
AHTH B =% 25 83. 20
AHTH B =% 26 88. 20




T i B[] 2 Hif AR
AHTH B =% 27 87. 60
AHTH B =% 28 82. 40
AHTH B =% 29 83. 00
AHTH B =%Y) 30 83. 20
AHTH B =% 31 83. 40
AHTH IS 1 83. 40
AATH TN EY 2 82. 80
AHTH T HINEY 3 84. 60
AHTH T HINEY 4 85. 80
AHTH T HINEY 5 85. 40
AATH T HINEY 6 82. 00
AFTH T HINEY 7 85. 80
AATH TN EY 8 83. 20
AFTH T HINEY 9 82. 80
AHTH NS 10 83. 40
4HTH RS 11 81. 20
4HTH RS 12 87. 40
AHTH IS 13 79. 40
AHTH FHHEHEY 14 82. 80
AHTH R EIEY 15 82. 20
AHTH IS 16 79. 60
AHTH IS 17 80. 00
AHTH S 18 78. 60
AHTH S 19 81. 80
AHTH S 20 84. 40
AHTH S 21 73. 40




T i B[] 2 Hif AR
AHTH RS 22 83. 60
AHTH RSN 23 83. 20
AHTH RS 24 85. 80
AHTH R HIN%EY 25 85. 00
AHTH RS 26 89. 20
AFTH T HINEY 27 83. 40
AHTH S 28 85. 00
AHTH S 29 83. 20
AHTH S 30 85. 60
AHTH TSI 31 80. 20
AHTH S 32 75. 60
4HTH S 33 81.00
AHTH B IHEY 1 84. 20
AHTH IS 2 83. 60
AHTH NS I 3 86. 40
AHTH IS I 4 81. 60
AHTH NS I 5 82. 20
AHTH NS IHEY 6 84. 60
AHTH RSB TEY 7 83. 60
AHTH RSB IEY 8 81.20
AHTH B IHEY 9 85. 80
AHTH TSI 10 82. 80
AHTH NS %Y 11 83. 80
AHTH NS %Y 12 80. 00
AHTH NS L% 13 84. 80
AHTH NS L% 14 87. 60




T i B[] 2 Hif AR
AHTH NS 15 79. 20
AHTH IS 16 83. 60
AHTH NS I 17 78. 60
AHTH N EIHEY 18 85. 80
AHTH B IHEY 19 83. 20
AHTH IS IHEY 20 86. 80
AHTH NS %Y 21 84. 80
AHTH NS 22 85. 40
AHTH IS L% 23 82. 00
AHTH NS I%EY 24 87.00
AHTH NS %Y 25 82. 60
AHTH NS I%EY 26 82. 00
AHTH B IHEY 27 84. 20
AHTH IS 28 83. 60
AHTH NS I 29 83. 20
AHTH IS I 30 82. 00
AHTH NS I 31 80. 80
AHTH BN EY 1 82. 40
AHTH BN EY 2 83. 20
AHTH BN EY 3 89. 60
AFTH BN EY 4 85. 40
ARTH BN EY 5 84. 40
AHTH BN EY 6 86. 00
AHTH BN EY 7 89. 00
AHTH BN EY 8 82. 40
AHTH BN EY 9 83. 20




T i B[] 2 Hif AR
AHTH RSN FEY 10 86. 60
AHTH RSN 11 82. 40
AHTH RSN 12 87. 80
AHTH BN EY 13 84. 00
AHTH BN EY 14 84. 40
AFTH BN EY 15 89. 20
AHTH RSN FEY 16 87. 80
AHTH SN FEY 17 86. 20
AHTH RSN FEY 18 84. 00
AHTH RSN FEY 19 81. 20
AHTH RSN 20 91. 20
AHTH SN FEY 21 79. 20
AHTH NS ANFEY 22 84. 80
AHTH RSN FEY 23 83. 60
AHTH N FHANFEY 24 81. 20
AHTH RSN 25 86. 00
AHTH NS FEY 26 84. 40
AHTH RSN FEY 27 84. 60
AHTH BN EY 28 80. 40
AHTH BN EY 29 86. 60
AHTH RSN FEY 30 81. 20




